ey #$" % " $ &% "% ( '$) (!

! ! ( $) ! # 3" % && (
()* o 1$) (. ( %!
' s
)%- ./01
+2 '2 3)! &$ ! ( $" - " "# |
4"&$ % $"NH%  $" &$ % , %% ' | 45
% I'$  $" "% ", $6 (
$" % ( " (" $1, ( " $" 7 g8 !I's " " 3) 11
"&$ % ($"NH%  $" 9 $) $&& ( )" L( $" - $& R (!
(1 &S I'$ "# o "# 0$ % "o &! "1t 1) I $6 ( ;
, $6 ( ' Y% ,% ($ ,$" " ! %$( " 08 (< $& %$= " 5 ("
28 > % " " @8 ; :$) ! : I, $6 ( ! $ " % $ && ( .
& %% % ! L, (! " * ! !
) % ! 7> "2 4+ 9<!* %%2 * (<2 $H# 2 A ! % 2 8
>)%& ) # $" 2
>)%& ) # $" (% + * 2 1 o#"
rs s : % # "( I3) 1 "# ($"D%  $" $" * 0
) % 1$) ( o1 &$ % o, %%; '% ! & " $%$# (%
%) $" &% ! &$ Il ' | 45 % 1'$  $" "$6 ( 7)% ., % %$( $"!8
! $: 4 1 %) =, ¢ $" , 5,8, 86 (! 9 %% L #" & ("

>)%& $& = ($ ($! !



% " &

# $ % ! & #
! " #1"$ % % & #% % & $ () & #"& $ %
#%* $ * + & #*+ & $, !
( %
* 4 * - B % $ & I- 1 & $ . $ #
*R . & -3 " /#S
& - #)('$/0)'/1)8 "0/#% 1 2+, $ +&,+.,
34, & 5 6 #7 5 36 $ -
! 3! . $ -, $ 4 /0 - 3! $ $ -
4, & 5 -3
43, %! 7 5 '1$-3 §, s -
433, g 7 #. 5 , 8- g ", -- " 56%$"7,! 8
( )
*+ & & 5 # * $
* k4 9 . 1 & & 5 $ -, 1.#
333, ; 9 ; & 5 #6 < =, ')==> 2(,=1' @>8 6?22A <
- - B :666%% / AS$-
9 +9 99 455 +(< !
34, 5 -


mailto:Marc_Wyatt@deq.state.ms.us
http://transition.fcc.gov/mb/audio/bickel/DDDMMSS-decimal.html

% " & ()

%
5 i 5 & l
#
$ # o, , 3
$, 2, 3 3 3 ., @, 3
1, 6 3 3
5
$ > 5 4(8
3 /! 3! $ $ - $ "1& ! - $ 3 1? @ 3 Il !
3! , $ $ +
3 b, , ! 3! , 8 -, v , . $ ) ., 3 , s rr-
"l # [ # 3 1.3 3 $" & ! - $ 3 $ - $ 3 ., ! , 31!
3 2., "o $7=% ,+ 3 2", =1 ' & & $ [ [ A S B$
AS$ B$# B$"7 Bs#!-B !> $ " # % + 1., B$# 6%"7,! $ ! $ $ "7
5 . C > 8+ 3 2" , ! " gl $ 2", & & "#
, % $ & - 8 ., 5 % 8 $ !I'$ "% " S &!, 3 " & , %!
5 8 $ 3 $ . o, $ "#+ /3 "1& $ $ s 1, 3 2" =1 ! -1
R -1, 5)8 & - 8T7=% _— 5:8 $" , I- $ -3%" $ % (DE
8 -3% $ $ -!. 5)8 I"$ 1, %", 3 A.- 18, + I 3 AS$ B$# $
Bg# 1?2 " I"$ 1 $ 8 ,.' 3 =1 $ $ & ! + &
$7=$% $ 3 8 18 s 8, =1 ! ! $ !
I $ # ! # . ! & I # g &! 7, $ I & 3 &
$',+ B $7=% =1 , 3! Lrog, = $, &% ,3 I, ,+
3 /! 3! $ $ 1? & ! 3 ! ror- ! 9;
$ ! $7=% ! L1 o$ ! ! ! s # ! # $ 9 3 !
38" % $ ! ! s # ! #+
* +' ) ! % " ’ (
. * %
( ) | % 0 1 * / 0
/! 3! $ $ 9 9
/- 3! $ . $ -5 . @ > 8@ /!. " L L R
$ 1> &% # 9;; -+ 1-"' $7=% $ ! 3 . $ $ 3 &!. 3 1- 3 /I - + 1., E
=1 $ ! " e 1> &3 #9 & -0 $ - 3% % + ., B$# ¢
" - 2", % &!. 3 1-/I - + [ .5, e 3 ' $7=% - $
& ! $ # s ! 3% , $ " (3 $ ? ! & + &I $# -18%
3% ! .$ "$ 1, % I 3% ! 3 ! &$ 3 &%> &
& $ &$# $ ! ! 1? $ ! ! ! & 4
+ 1., B$# ,$ "%, 8 '$# % , .8 # ! 3 Vi A.- I$, 8 1 $ J& M- 3 - =
> $ . $ &$ ,3 "l #, &, Ve + 3 6!. $ % /- . $ 3 =l &$?! |#, &
3 '$# $ $ $ > &% # (9 $" L+ 3 s =$ 'l , 3% $ ! +

$ B$#!'. $ !'>-1& 3 =, % Bs#!. I & - 1& 3 $,+ 3, $ $ $ $ " 8



$ ., #
3, - 3 '$#
=$ 1. -$ -
" ' % %
- " - &, &
" , - =3 + 3
38" $, 38 -8 7
% $&! 3 $ )
3 , .S #HH 3
3" 8 4
88 3%
e 8 8 &.
8 #3
5 3
5
3 b, /!
., B$# $
D
B
! . %
9 7
3 $ V7
"l g8
$ !
&$ I's !
% #3
$
1 g
#3
1 "g!
*+ F #3

% " & ()
'$ -, 8 $, '$ $ = $ ,+ 3 %. ! -$" # |
, , 3 # -"$ o $ "1& > | 3 '$# [ + 3 '$#
- "% ! P, -3 , - % $&! 3 % F B$# + 1., $ $,, 3
, + ., B$# $ & - 3,0 1 ‘$#!., 3% & $" ‘#
) $ 3! , . s %% $, "8 &$ # $ , $, &
'$, $ ) , LB, & 1= $ 3. $" ,1- &% ,3 % . $
3 &!.3,!- 3 /! - % 6!. $ ,+ 3 , . $ &$ ,3 ,'.31!- 3 "
, ! $ - I $ &% ,3 % 3 $ , 3% & !- 3,
1, I- 3 + 1., B$# 3! =1, ! [ 3, &% ,3 -1& -
12 " i @ 3 ,.), $ $ 3 12 " g N R
"% 3% 1==$ $ $ 31- 1 $ 3% D' 1= [+
3 # $
3 3 3 D
. $-
- 3! $ - 1? 1& ! R $,
3 &!'.31!- 3 /I -
#3 6 3 5 #
B , E $, 3 B
7 1= S 3 1? 1& ! $ $,+
% 4 #3 6 3 5 3
3
5 ,$-
= ,$ $,,,. #,1- 3 $ $+ 3 =% , % $ [ ! $
$,, 13 &$ $ !+ 3 &$# ', 1'% "% B, !-8&$
+ 1., BS#+ - &% $ ! , "y ! # -1 =1
3& ,0%, ! 1 "s., 8 $ & $" +
6 3 5 3 # B
3 5
5 ,$-
6 3 5 3 3
'3 5 ,$-
6 5 #
.8,



% " & ()
(
#8 5 BG 3 / B,$
3 12 > I $, ( ! D& 3, = 3 4=$% =17 | & $ 3 1.
*+ 6 & 8 G = 3 G 6 3
HH I . 3 3 I
I 3 5 3 / | 5
5 | 5
HH
D # $
3 1, 31 $ $ -2 1& | .3 s o1
1S # ! # 3 1. 3 3 $" & - $7=9% ULt & 3 $7=% =
[ ! -, 3% ,. ! ! 3", " $# ! # " ' ! & [
&! 7, $ =l &, ,3 & $ $',+
3 - $7=% $ 3 $ -, -1 3 ! 31 8 -
P , -8 1? 1& ! , % " .$ 3 2 ! & + ! 3 A -
$$# 3 3% , $ # , &% 3 &%> &.& -!! -1 &$ $
& ! $# & % . - 1& 3 1# & l- $7=% , . $ $ $ -y
3 0>"$ % 1 1o &1 $ # "I Io"3% L+ 1'$ # % &$ 12" $ $ =3"3
1'$ & $" , =1. [ , 5! ! + & ' $ # s ! "3% 5, =8 "I " .$ "$
oy 3 U3 L, - &$ 3 &%$>&.& & 1 $ # &S$", '. 3,
& $" , &%# ' B! - 8 1? s || "3 2., % *1 "1 !
13 > $" 'S & $2.% $ | 5 .8 =1 $!1 C 3= S
P& $" 0§ 3 & 3 > $" " $ 0§ 3% 0§ =1, 1§ 1, =
,o> I $ 2%" 3,1 " 3% 'l 1& 3% + $ 1# #, ! =1 Mg
$ $ 3% $+ 3 $.0, -1 - & 12 1"$ s
G $" 1o $.% Lot . $ L 5+ + 1#, I $ "3 11 "$ 8C
G : '$, $ .8 1t L # 5+ + 1"$ - e >
3,1 " 3% 'l 1& 3% $ 8C
G ", $ !, ' ! & ! "3 "% 3 11" $ $ !
" ro&s s, " ! 3 2.,1 '$ 3#& "1, $ ,C
G ' 3 1& & o+
o I & 31 ,% $" . $ $ 3 r& $ & $",-1& 3 11
1?2 + " % " & 3!, % $" =1 & $- - % $ =1
“1& $ 8 1 " " =+
B $7=% ,@ 3 $7=% I, ! $ $"3 3 &%> &.& [ I
3$ =! ! & $" i $" & -3 5 $ (8+ #$ ?2., & , 13 o,
B -8 =t % 38 3 $ $& $° (+ 3 ' $7=$ =1. 3
$, $ 1& 3 b - = 3 1. 3. 3 3 !- 3 .o+ %, - 0% ,
= &% ! I & $ & $* $,,!I" % = 3 3 1?2 # . H $ ! $ $
"8 & B .+ I, . =1 87 "= 3 3 &$>&.& 'l 1& = 3 - $'
L, &s 0, =1, 3 $" & I- $ ., . 3% =1. H $ 1
&% .-$" $ *1 $.% &$ $.,+ 3 $ & % & ,'- 3 ' $7=% , =1.
12", . #$ $ ,31= (+ $ $ 1 T T L2 ‘4 3 | A $
L$ S 1 -+ 3. - $ $ !, ,8% ., &$ $° (S ) " 1=+ $ $ |
=1 - $ (3 $ = 3§ #=1l $.& .& $# '1$ $ 3 s+



% " & ()
=1, '# 3% ! , $ " $, LS # S "$ ! # 3%&& -1& $'S$ =1,
53 , '8 3 % - 1& 19 l= 3,0, %+ 3, =1 . 3 $# '1'$
$ 1> &% # K + $ I= 1= /% 5 /8+
3 $7=% =1, "l $ ! &% .-%" . $  *! $. % &% $ .+ 3 &$
=1, B R ¢ $ $ > I, # ! $ $ $5,."3%,%$ $7 18 $ 3
$ $ =3 "3 3%, =% "t 38 "$ 2 & =1, o H (I 3 &% $,! '3
3% '$ + 3 &% $, =" ' $ ! 13 =1'7%$ $ ! 1 # #3$"$ $  *!
$ & $"7 3! "$ 3 2. & '$ + $" & ! 3 ' $7=% =1, &l
! 3 ' $7=% & ! ! $ $ !, $ $"3 +
4 B J, !> &% # 9+ (9 "." " #% |+ , Ly, =%, !
& $7= ! + 3 3 $ 2.%, 9% 1> &$ #o(+(: """ #S ! 1?2
I+ 3 $ ! .& "3% '$, ! I"$ I $ - 3 +
$'° (@ ! 3! . $ -, , - $
& $ # % $ $& $ ! "ol "3 2 I B $7=%
+ 1, B$# 1?2 $> &.& I $ $ ! &$ M
1& ! R 3 5%$" ,8 , =$
/ 3 5- +8 5 $"38L [
5- +8 & 5&! 3,8
/! 3! $ 9 9 +9 I < D
$
. & $ # &$ - L&' 1 cC !',. $ ! = 3 3 | 1%, A.$ $
s 8 1 % L=t Corn $ ! & 3 2 # 0%, 8" - s $ 1
,
- $" $ @ 3 $ - 3% =1, N . $ 8 . "3 &% $
5 & , ! "3 e 14, , 3 1 $ "r&et $ ! 3 -8+ 3 " "3 &% $, =! '
$ $ >, , $ $ $ =3 "3 3%, =% $"" 13 1? $ $+ 3 . "3 &% $, =!
$ 3 > , $ $ 3 ! . '$ s s ! 3 &% $., 9% $ $ -
S " ' ! & ! $,3 -t g $ $, 3% + 3 "$ 2. & =
. H 1 1$ 3 &% $,! 1 ,3% I= $- '$ I ,3% 1= $- -4 1= &$ '
&$ $ =1 1 # .y $ 3 3 Vs =$ ? [ $" $& ,3 LT &! g
$ ! $ & $"7 3! "$ ' $, $ 3% 2 & $ + 3 "3 &% $ = 1 #
=$ 3 $ & 14 /I+ 3 3 &% $ 3 "7 =1, $ - 1& b "3
5 %' 98+
4 J, 1> &% # () ( #$ .+ .08 , =1 L #
$ 1> &$ # D "3, 3"7 =3"3 2.% , !'$ 1> &% # ;, E " #9$ $" C 3 1?2 "
$ 1>&% # 9 " 4+
* 23 ) ! %
* 0w 1 *
. %
) 4 ( 1+
/ 0 / 0
/! 31 $ $ 9 (



& ! $ # s ! 3% , @ &' $#-1% I "3% , &$# 2. I -3 $ $ vy -
‘s, , 3% I= 2" $ $,+ - 2. 3 "3% , =1 o>"8 $ . ! 3
-t o1& 8 $ ! "3$% . $ $ S 1 3 $ & , -3 $7=% [ "ol

$7=%$ + 3 "3% , =1 >"$ $ 1 $ &%> &.& !-D -+ ' I= [ $""1&&! S '$

$-+ 3 ' 1& = 3 !- 3 "3% , =1 "8 1> &% # ;, -+ = 3 9 @ , , I ,+ 3
3% , =1 & & H 13 > $" "$' + 3 & ! $ #-1% I "3% , =1 Yo
& "3% "$ # ., $" $&4,3 7 ! I 48 & >"$ $! I "1& $ %' & 3111 # $-

3, .., ,"l& + B, $3$ & $" ", 5B ,8 =1!. -l 0= . >"$ $ I8
'$"7- I & & H I & $ & $" ,+ 3 & $ # & !'$ #-13% ! "3% -1

$". % '$, I $3 8% # I$ '$ ! ', &S 3 &%> &.& ! $ & $" + 1!

& !''$ #-1% I "3% & , !, % ,.&&$ H $' )+ &!'$ #-1% I "3$% , &%
$ ! ! 12" , E A e & +

* 53 ) ! %
4 #
( 4 4
) /% '0 . $ /1% '0 !
))$ /% '0 / 0 / 0

/- 3! $ Lt $ (<D D ; T+) 1 <

@ & ! $ # 1$ ! 3% $ ,$ % - &1 S H# S B! , , &$ [
5 % 8+

$ $,

> $ $ 8, = $ 3 ! I"$ 38" 3 # ' $ 4 7 +
$ ! $ $ 8, = L8 #t

L&&S$ #H1- & $"

$ 18 $ ! 3 12 1& | $ $+ -=% $ #, =1
1 & | 1 - $ [ 1 $ ! & $ + =1 $ ! 13
> $ "$ o+
/- 3! $ . $ -@ 1> &$ # 9;; $ -+ 1-" $7=% =1,
b, = 3% ! &$ $ $ I $. 9% &$ $,+ L, 1 1 3 " $7=% =
&$ # & $" 8 1> &$ # +9 $" ,1- ,I- "1 1& 3%$" $ 5.,% &. # ,$%$ $ &. !
&' $ #-18% 1 "3% , &$# 2. -1 3 ", et $7=3 . $ $ "
&$ "3% 3, % )+ ( $ -+ -1 & I'$ !-:+) $" , 58 )8+ & !'$ # -18
=1. ST - & "3% "$ # $- R , "1& +
B! 1& %, .'$ " $ L #
% # & $" , 8,18 = 3 3 [ [N $7=% . $ ! [N & ! $ #
"3$ , =1 . , 31 4 & & $", ! =% 2.% # %, $ . - 4, ., A &
5'$ , N A "+8 &! $ .- 3 & 8 !- b, $" '+ 3 ., , & &
$ ! [ = $ , =% =$#, $ 3 ! + I= 3 $ 3 "































































